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The mark against each question is 1 mark and any 100 multiple choice questions may be

attempted. Questions on Official language are not compulsory.
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Please do not write Your Name or any other identity either in the question paper or in

the answer paper except in the columns provided on the 1% page of the Answer Sheet.
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In answer to the Objective questions, no corrections of any type like Cutting,

Overwriting, erasing or alteration of any type in the answer etc are not permitted. Zero
marks will be given for answers having corrections/overwriting.

ATt 7 WA w6 I A AL AT T3 I TR H B A1 AR

Candidates should answer the questions only in the Answer Book supplied.

. FEEEIEE oY AT I F IUGT AT ATATT ARl 5| FOAT TEAT 6 S TLeAT T § 3w
HIETEE BIF A9 °97 7 7|

Use of Calculator and Log Tables is not. permitted. Please do not carry your mobile

phones with you in the examination hall during the examination.

. T 3L (o0 THRTETEHT A R

There will be negative marking for wrong answers.

- wer o gy w9 § Fe fr @) B A R of i & areer #, woam Sust g|
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Question paper is set in Bilingual form. In case of any discrepancies in Hindi, please refer
to English and the English version §tays valid.




HIT-P/PART-A

1. 3 o sro e 3 foro at farepeT =
Choose the Correct Option for the Question Given Below: (50x1=50)
1 He is honest man.
A. the B. an
C. a D. No article
2 Is there food for me? I’'m very hungry.
A. some B. little
C. many D. much
3 She will you a new pair of jeans on your birthday.
A. got B. gotten
C. get D. getting
4 He was by a snake.
A. bitten _ B. bite
C. biting D. bit
5 | would him, if he had apologized.
A. forgive B. have forgave
C. have forgive D. have forgiven
6  The wind heavily yesterday.
A. blow B. had blew
C. blown D. was blowing
7 My laptop is not working. Can | use ?
A. vyour « B it
C. yours D. their
8 He blamed for the mishap.
A. himself B. yourself
C. themselves D. whom
9 belongs to the most intelligent group of boys in the school.
A. he B. she

C. it D. they
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Kids are eating lunch.
A. their B. there
C. his D. this

are wearing their jackets as the weather is getting cold.

A. their B. they

C. them R D. those
His appointment has the approval the Government.
A. to B. for

C. of D. with
The public are cautioned pick.

A, at B. for

C. with D. against
He rushed my room.

A. into B. in

C. to D. at

It is difficult to live writing.

A. by B. on

C. with D. for

They found him guilty conspiracy.

A. of B for

C. with D. to

If you see him, give him message.

A. a B. an ‘
C. the D. None

| like to live in __ open air.

A. a B. an

C. the D. None
He returned after hour.

A A B. an

C. the D. None
He at this time tomorrow.

A. issleeping B. was sleeping

C. will be sleeping D. would be sleeping
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The old man
A. shaked
C. will shake

By the time we reached, the train
A, left
C. leaves

Choose the correctly spelt word:
A. Acommodate
C. Accommodate

Choose the correctly spelt word:
A. Privilige
C. Previlage

Choose the correctly spelt word:
A. Ocasional
C. Occassional

Choose the correctly spelt word:
A.  Symetrical
C. Symatrical

Choose the correctly spelt word:
A. Disapoint
C. Desappoint

} wondered his skill.
A. at
C. into

Silk worms feed

A. in

C. with

She takes her mother.
A. for

C. after

by the news.

mulberry trees.
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B.
D.

was shaken
would shake

had left
has left

Acomodate
Accommodat

Privilege
Privelage

Occasional
Occasseol

Symmetrical
Symmatrical

Disappoint
Disappoent

in
for

on
upon

on
in

Choose the correct spelt word out of the given alternatives:

A. Adalteration
C. Adulteration

B.
D.

Adoltration
Adealtration



32

33

34

35

36

37

38

39

40

41

42

Choose the correct spelt word out of the given alternatives:
A. Wellfare B. Welfare
C. Welfair D. Wellfair

Choose the correct spelt word out of the given alternatives:
A. Genuene B. Genuin
C. Geneuine o D. Genuine

Choose the correct spelt word out of the given alternatives:
A. Omited B. Ommited
C. Ommitted D. Omitted

Choose the correct spelt word out of the given alternatives:

A. Disipline B. Desipline
C. Descipline D. Discipline
Sowmya is dependent her parents.

A to B. on

C. by D. with

My teacher said, “we should rely our own efforts”.
A. in B. for

C. on D. to

Only graduates are eligible this post.

A at B. for

C. to D. in

Raju was indebted his friend.

A. by B. for

C. at D. to

The work should be finished next Friday.

A. by B. at

C. in D. on

She will secure first position if she hard.

A.  will work B. shall work
C. works D. worked
The collector and District magistrate a good officer.
A s B. are

C. were D. has
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[ request you

A. tokindly

C. kindly

He got too tired over work.
A. because of

C. for

The train as fast as bus.
A. went

C. rmoves

Choose the correct sentence:
A. Do you like a glass of water?
C. Would you like the glass of water?

B.
D.

grant me ieave for two days.
- B,
D.

kindly to
None of the above

because off
on

running
going

Would you like a glass of water?
Do you like the glass of water?

Which of the given below words is spelt correctly:

A. Acident
C. Acciddent
When he

P: did not know

Q: he was nervous and

R: heard the hue and cry at midnight
S: what to do

The proper sequence should be:
A. RQPS
C. SQPR

Improve the underline sentence:

B.
D.

B.
D.

Aciddent
Accident

QSPR
PQRS

The workers are hell bent at getting what is due to them.

A. hell bent on getting
C. hell bent upon getting

Find the correct spelt word:
A. Adverisity
C. Adversity

B.
D.

B.
D.

hell bent for getting
No improvement

Advercety
Advercity
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WTT- @ /PART-B

Profafad us &1 98l fdded g

Choose the Correct Option for the Question Given Below: (20x1=20)
1 O1 g 1 AAA oo /CPU stands for .
A. Computer Processing Unjt B. Central Processing Unit
C. Computer Protection Unit D. Central Processing Upload

FOLET FT AT F4 F T T TATU:

To restart the computer press:

A Cul+Z B. Ctrl. + Alt + Del
C. Del+Ctrl. D. Ctrl.+A
FHTY TR it ToAT o i
Who composed our National Anthem?
A. Rabindranath Tagore B. Bankim Chanda Chatterjee
C. Sharad Chandra Chatterjee D. Asha Poorna Devi
1 gty @fFer w1 |y w7 A 2

is considered the father of Indian constitution.
A. Rajendra Prasad B. B.R.Ambedkar ’
C. Radha Krishnan D. Malwya

Frofarter 3 3 frg B 1 srae g gvera (T foras ) Ao Rea s s d
HATAT STAT 8?2

Which of the following days is observed as International Literacy day?
A. 18" March B. 7" May
C. 5"June D. 8" September

ST e ST ST 6 T S SAeaTal § A UF, FUE BIRIRIRIES
Jog Falls which is one of the highest waterfall in India, is created by

A. Sharavati River B. Kaveri River

C. Tunga River D. Mandovi River

FATeF & T T TEERTE AT 1ol T SATeh e 97

Who was the first person to received Bharat Ratna award from Karnataka?

A. Girish Karnad B. C.N.R.Rao s
C. Bhimsen Joshi D. M.Visvesvaraya
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FATH & AT FSTell AT a-FTesh &7 H7 797 ATH 47 52

What is the new name of the Mumbai-Karnataka region comprising seven districts
in Karnataka?

A. Kalyana-Karnataka B. Kittur-Karnataka

C. Belgavi-Karnataka D. RaniKarnataka

TS AT T UH AT =T FITE /The full form of HRMS

A. Human Relation Management B. Human Resource Management
System System

C. Health Relation Management D. Health Resource Management
System . System

TYLAT H AIAT T 3TIT THLT FEITT (IRIDM) FET Ry 22

Where Indian Railway Institute of Disaster Management (IRIDM) in SWR is located?
A. Dharwad B. Harihar

C. Hejjala D. Hassan

P F139ar.......8 / The validity of PTO is
A. 2 months B. 3 months
C. 4 Months D. 5 Months

THHTTE FT I FTFITE / The full form of MCF is
A. Multiple Coach Factory B. Modern Coach Factory
C. Modern Coach Federation D. Memu Coach Factory

W@Qtﬁ CAIRS R[N —— %/ LHAP stands for

A. Leave on half average pay B. Leave Half day Average Pay
C. Leave Half Actual Pay . D. None of the above

T o ATg T80 & &9 § T ST97 1T of1?

Who was known as IRON MAN OF INDIA?

A. Govind Ballabh Panth B. Jawaharlal Nehru

C. Subhash Chandra Bose D. Sardar Vallabhai Patel

I T T e AT AT o H drefeerer 22

Which Karnataka City is pilgrimage destination in Jainism?

A. Belur B. Shravanabelagola

C. Shorapur - D. Tumkur
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F177 ot AT Y A AT A AR B2

Which one is not a tributary of Kaveri River?

A. Hemavati B. Shimsha
C. Arkavati D. Bhima

AT B TEeAT 91T o &1 F Q& (AT 7 9m?
When was the first train steamed off in India?

A. 1848 B. 1853
C. 1875 D. 1880

ATy Yore 7 vt =it terdt T g / e g2

in which city is the Rail Wheel Factory of the Indian Railways located?
A. Kapurthla B. Varanasi

C. Bangalore D. Rae Barelly

Fior Tera Teferfam o & B wyg & areaa & Ford) 82

Through which of the following group of states does the Konkan Railways run?
A. Maharashtra — Karnataka — Andhra B. Maharashtra — Karnataka — Goa -

Pradesh — Kerala Kerala
C. Maharashtra — Karnataka — Tamil D. Karnataka — Goa — Kerala — Tamil
Nadu — Kerala Nadu

T 3y FraTer it v e Refortag § & fg e o7 feua 32

At which of the following places is a branch of Karnataka High Court located?

A. Ballari B. Dharwad
C. Bidar D. Mysuru

fraferfara wor 7 Zor ¥ AT ST S A /

Solve the following Question and Choose the Appropriate answer: (30x1=30)

Two numbers are in the ratio 7: 9. If the sum of the numbers is 112, then the larger

number is:

A. 49 72
C. 63 D. 42

w
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Ratafeg et g, 1R . F IET B

Among of the following numbers,1 billion is equal to
A. 10 lakh B. 10crore
C. 100 crore D. 1crore

1568x185 —1568x85 =?

A. 7840 _ B. 15680
C. 156800 D. None of these
[(-16)x(-3)] + [(-12)x4] FT =7 ......... 2l
The value of [{(-16)x(-3)] = [(-12)x4] is *
A. O B. -1
c. 1 D. 2
5 +3-7 isequalto
8 4 12
A. 15 B. 17

24 24
C. 19 D. 21

24 24
2.5+3.05~-4.005 is equal to
A. 1.545 B. 1.455
C. 1.554 D. 0.545

24, 36317 40 FT ~JATH FHATIAF ) LLM) ... 8

The Least Common Multiple {(L.C.M) of 24,36 and 40 is
A. 120 B. 240

C. 360 " D. 480

W 9 & TF (AT & FaTE L) 39 [FA & e daTs ... 8
The length of an edge of a cube is L. The total length of its edges is
A" 3L units B. 4L units

C. 6L units D. 12L units

AT 92 15, 25, 40, 60, 85 ......... EQR Ty
Complete the number pattern 15, 25, 40, 60, 85 .........
A. 115 « B. 95

C. 100 D. 110
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12 e wF F19 F1 10 ol § F7 aFa 8| 3 F7  8 fRei ¥ e ¥ oru e
TEYT T AFLTTHAT gAY

12 men can do a piece of work in 10 days. How many men would be required to do
the same work in 8 days?

A. . 14 B. 18 s

C. 15 D. 12

1140 T 170% FIT8? / What is170% of 1140?
A. 1938 B. 1824
C. 1995 D. 1881

204, 22837 228 FT IFJAH ATHTY F13F) H.C.F) .....8

The Highest Common Factor (H.C.F) of 204,228 and 228 is
A. 16 B. 12

C. 14 D. 18

oY wvegT o7 9 T[T 5 F TR 9T 44 WTH FAT 81 TE HEAT AT HITor0)
Thrice a number increased by 5 gives 44, Find the number.

A, 13 B. 10

C. 56 D. 31

T S AT AT & 1/3 ST IS Y, 1/4 AT W & 36270 92 9797 9w #:7 2/5
T FIET IT 0T FHIAT g1 396 I o1eft A7 £.1280 F1 3T 37 ;79 Hrfore?

A man spends 1/3 of his incopme on food, 1/4 of the rest on house rent and 1/5 of
the rest on clothes. He still has Rs.1280. Find his income?

A. Rs.3200 B. Rs.3600

C. Rs.4200. . D. Rs.4800

T A A U SATh 7 A 37T [ a0t g &t a7 [T o) o= 9 arg, foar v sy
IR T T A T A AT RO IO aAA1 A (AW H) SO D0

- Five years ago a man was seven times as old as his son. Five years hence, the father

will be three times as old as his son. Find their present ages (in years).

A. 35,7 B. 36,9
C. 40,10 D. 30,6
Heried 7,10,9,12,11, _ HTEIE
Complete the number pattern 7, 10, 9, 12, 11,

A 17 , ; B 15

C. 14 D. 16 ’
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AaﬁtBa‘ré“srrr%Gﬁﬂsf%lﬁqﬁﬁél AT YT 6 T I 9% 21T & 30 65 Fmfr ofy
s AT AT & B fr dre s 2 UF ST S B W qAE 7 a9 % 21 & o 85 By oy
Ei%a?rrrf%@r/\ﬁaﬁ?wemﬁél T T e ey 82

A and B are two stations 515 Kms a part. A trains start from A at 6 a.m. and travels
towards B at 65 kmph. Another train starts from B at 7 a.m. and travels towards A at
85 kmph. What time do they meet?

A. 9am B. 10am
C. 9.30am D. 10.30 am

@ﬁ@wﬁﬁ@mﬂﬁ‘{ﬁﬁ%lWf%ﬁ%fﬁ?ﬁﬁﬂ?ﬁﬁ%%O@ﬁ%@?ﬁ
I AT 99 AT T 1150 A e mearer 2

In a zoo there are some rabbits ang parrots. If their heads are counted they are 400
and if their legs are counted they are 1150.How many rabbits are there?

A. 125 B. 150

C. 175 D. 200

THer 7 5 39 & forw 4% AT FTEToT ST Y 77 i T Py 2 RIERUCIERE )
AT DT SATST 1052 ¥9% o, 1 qergq ..., 4T

Rajesh took a loan for 5 years at the rate of 4% per annum simple interest. If the
total interest paid was Rs.1052,the principal was:

A. Rs.4960 B. Rs.5260
C. Rs.5380 D. Rs.5120
0.4x1.5 =?

0.2
A. 2 B. 3
C. 1.2 * D. 03

U%W%msaoﬁaﬁag&wmﬁ%%q 100 9T 74T & T qf2y it BT s |

:!
Find the radius of the wheel if the wheel rotates 100 times to cover 500 m.
A. 0.07m B. 0.47cm

C. 0.79m D. 0.57cm
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gW,WaﬁwlmmaﬁmW40°%ﬁ@r%m@| AT, FAT AT
T T 3fEd 41°C 9T a1f AT F AT 42°C o, A e 1 ATTAT {Heaar

q77?

The average temperature for Wednesday, Thursday and Friday was 40°C. The
average of Thursday, Friday and Saturday was 41°C. If the temperature on Saturday
was 42°C, what was the temperature on Wednesday?

A. 39°C B. 44°C

C. 38°C ° D. 41°C

T T H 80% seeff 3Rt # 3ot gu o 859 SwftgaTe it # St g afz
FCEARIRELRI WET mmﬁa?ﬁﬂ?gq,aﬁirﬁﬁuﬁﬁ%ﬁaﬁrmwwvﬁaﬁﬁﬁ
g |

In an examination 80% candidates passed in English and 85% candidates passed in
Mathematics. If 73% candidates passed in both these subjects, then what percent of
candidates failed in both the subjects?

A 8 ‘ B. 15

C. 27 D. 35

a2 A 3f7 BT U 3:4 €, 27 B T C FT ST 12:13 B, AT A AT C FT AT

If A and B are in the ratio 3:4,and B and C are in the ratio 12:13,then Aand C wjl| be
in the ratio

A, 3:13 B. 9:13

C. 36:13 . D. 13:9

7 TTHETT A, B, C T ST 4% F7d 8 B Y 9oft ¢ 1 Goft T 4 AT S AT A KT A
mt{sﬁsaﬁﬁ%zﬁ?w%w% 2 T o ¥ o | e ATH €.16500 &, &1
zeri} B &7 e sra B

Three partners A, B, Cstart a business. B's capital is 4 times C’s capital and twice A’s
capital is equal to thrice B’s capital. If total profit is Rs.16500 at the end of a year,
Findout B’s share in it.

A. Rs.4000 B. Rs.5000
C. Rs.6000 D. Rs.7000
SATY a-b=3 and a*+b2=29, ab FT AT ......... 8|

If a-b=3 and a2 + b?=29, find the value of ab.

A. 10 B. 12

C. 15 D. 18
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3 9w, R & 8 52 W F7q gU, U £ %1 2 Tt # wrelt w7 e ) 1 R diw A
greft 7 & forw 4 9t =7 R § e 92w Fay i

3 pumps, working 8 hours a day, can empty a tank in 2 days. How many hours a day
must4 pumps work to empty the tank in 1 day?

A. 9 B. 10

C. 11 D. 12

A AHATL R 61 BT F1E, I o 2T

Today is Monday. After 61 days, it will Qe:

A. Wednesday B. Saturday
C. Tuesday D. Thursday

frefafeT e § & o FToarssng: 6,9,15,21,24,28,30
Find odd one out from the foliowing series:

6,9,15,21,24,28,30

A, 28 ' B. 21

C. 24 D. 30

&1 it o BTt 7 ST id 3:281 I TP R # e o 2

The ratio of the radii of two circles id 3:2.what is the ratio of their circumferences.

A 23 B. 3:2

C. 49 D. None of these
Faffmm_ -

The script of Hindi is .

A. Devanagari . B Pictographic
C. Arabic D. Greek

FaT § wfagT Y st aasT § P vt w gEtas e aar E?
At present how many languages are enlisted in the Eighth Schedule of the
Constitution?

A, 23 B. 22

C. 21 D. 20

e ¥ argerre, T2 v wrea w it srfarwTie s w7 aee iy ore

As per the Constituticn, When should Hindi have become the official language of
the Union of India?

A. 26.01.1995 B. 26.01.1965

C. 21.06.1965 ' D. 21.06.1995
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1967 ® werrfera TrorsraT st i 1963 # fraet ey &2

How many sections are there in the Official Language Act 1963 as amended in
19677

A. 6 sections B. 7 sections

C. 9sections D. 8 sections

T 3 T T § TIOSTHT (69 % sfareTiie 32t % fore v Rae 1976 &y
LRI ,

To which state of India are the Official Languages (use for Official purposes of the
Union) Rules 1976 not applicable? A '

A. Karnataka B. Kerala

C. Telangana D. Tamilnadu
When the Hindi Day is celebrated every year?

A. 14" October B. 14™ November
C. 14" September D. 14" December

TrorATeT FRere § B T ST % AET R AT T 8 " F st arar a2
Which state comes under region “C” as per the provisions made in the Official
Languages Rule?

A. Bihar B. Karnataka
C. Gujarat D. Punjab ,
AT/ ATE T ST R R T2

What is the order of language used in the Name/Notice Boards?
A. English - Regional Language - Hindi B. Regional Language-Hindi-English
C. Hindi - English - Regional Language D. Regional Language — English - Hindi

S vyt FTaieEE A F e a &2

Who is the Chairman of the Zonal Official Language Implementation Committee?

A HEEY® /GUY/ galud / B. HEd ¥ UeYh /
General Manager/SWR/UBL Divisional Railway Manager (DRM)
C. WEHS HEVEYd G0/ Yae/ . Sifafked ded ¥ ysiud/
Assistant General Additional Divisional Railway

Manager/SWR/UBL Manager
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o e & Aoft i ey, o Y foreror s ¥ g afoarod faar
2, &1 wfAfeT FeA T ArFegHar g?

From which course a Category “C” employee, defined under Hindi Teaching Scheme
required to be trained?

A. l;TaiUTtI'I_CFEIWJ:[/ Praveen Course B. UINUISAhH /Pragya Course

C. Uy UrsusH /Prabodh Course D. aﬁwqﬁﬁé/ Not required



